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ENTRANCE ACADEMY

Mathematical
Inequality &
Coded Inequality
Solution (TYS)

1. (e)
5) I. J}Z—-?—i—:O

::x—\/-=0 =>x=\/(_3'
1P =6"2= (\/5)3

=»y=J6

2. (@)

1) wfERw [ x 3 - g I,
2x-6y-5x+6y=30-6
=4x =24 =>x=6
=== [ 9,
3x6-2y=10
=2y=18-10=8
=y=4

3.(d)

91 2+x-12=0
=x% +4x-3x-12=0
=xx+4)-3(x+4)=0
=(x-3)(x+4) =0
=x=3q-4

I y2-5y+6=0
=2-3y-2y+6=0
=yy-3-2y-3)=0
=y-2)(y-3 =0

B y=293

4. (c)
SLxX+9x+18=0
x?2 +6x+3x+18=0
x(x+6)+3(x+6)=0
x+3)(x+6)=0
x=-3a-6

2 -13y+40=0

2 -8y-5y+40=0
yly-8-5y-8=0

G0 U™

y-5y-8=0
:;:5'2118
5. (b)
L_A:.,'x.’. =11—‘6=5
=x+6=25
>x=25-6=19
I y* =473 -112 = 361
=:=J:_36—=j:19

Directions:
6. (b)

2 1.202-x-12=0
=20x2 - 16x+ 15x-12=0
4x(5x-4)+3 (bx-4)=0
5x-4)(4x+3) =0
5x-4=0W4x+3 =0
4 -3
.\':g'ﬂl 2
12042+27y+9=0
2002 + 15y + 12y +9=0
5y(4y+3)+3(4y+3)=0
5p+3) 4y +3)=0

u ub

u

-3 -3
P V=5 1%
== x> Yy
7.(d)
j£ 1 22 =106 +218 = 324
x= 324 =1+ 18

E 2-37y+342=0

= 2-18y-19y+342=0
= J(y-18)-19(y-18 =0
Fu-19(@y-18=0
Fu=19718

8. (e)

L 6p> +Sp+1=0
= GBp-DR2p+1=0

5 Ll
: 3E8LD
1. 20> +9¢+1=0

= (4g+1)(5+1)=0

) Se Loy
Aaeg s
p<q
12. (a)
L 3p°+2p-1=0
= -Bp-D(p+1)=0
=4 p=—1,—1
L. 2¢°+7g+6=0
= (2g9+3)(g+2)=0
= q=—§,—2

pP>4q
13. (d)
L. 3p>+15p+18=0
= (Bp+6)(p+3)=0
p=-2,-3
. ¢ +7¢g+12=0

U

= (¢g+4)(@+3)=0
g=-3,-4
p2q

U

14. (c)
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15. (e)
L. p’+13p+42=0

= (p+7)(p+6)=0

= p=—6,—-7

1. g* =386

= g==*6
Psq

16.(b) Conclusions
I.Y > L : Not true

II. A> R : True
17. (d) Conclusion
I. P = R: Not true
II. A <Y : Not true
18.(a) A= B =C<D
Conclusions : I. A >C : True
II. D > A : Not True
19.(b) P< Q= M=N<O
Conclusions: I. Q> O : Not true
II. P < M : True
20.(d) T>R<S=U>V;U=2M; T
>R<S=U>V=M
Conclusions : I. M = R : Not true II.
T<M:Not True
21.(a) QP> < £N=T

O=2N=T

Conclusions : I. O = T : True II. O=
Q : Not true
22.(d)D>E=F<
Conclusions: I. E <
> P : Not true
Directions :

P<Q
Q : Not True II. F

2

v

A
foY o)
Uiy
'U-U-U
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N ©R = N =R
Therefore, ] > K<T<N2=R
Conclusions:

I.J$T =] >T: Not true
II. R*T = R < T : Not true
III.N$K =N >K: True
IV.R *K = R = K : Not true
24 (d)F% W=F=W

WOR =>W=<R

R@M =R<M
M$D=M>D

Therefore,
F=W>=R<M>D
Conclusions:

I.D @ R = D < R: Not true
II. M$F = M > F : Not true
III. R@ D = R < D : Not true
IV.R*F = R <K : True
25.(d)H @B =>H<B
B*E =B<E

VOE =V<E

W$V =>W>V
Therefore, H< B <ESV < W
Conclusions : . W$E =W >E:
True

I.LH@E = H<E:True
IMI.H@V = H<V:True
IVVWESB =W > B : True
26.(e) ROK = R>K

K*N =K<N

N$J =>N>J
J%H =J=H
Therefore,

R>K<N>J=H
Conclusions : I.R$ N = R > N : Not
true

II.J@ K =] < K : Not true
IN.H@N = H<N: True
IV.R$H =R > N: Not true
27.(c)K*D =>K<D
D@N =D>N

N%M =N=M

MOW =M>W
Therefore ,
K<D>N=M2=2W
Conclusions:

I.M@K =M< K: notTrue
II. N@ K = N < K : Not true
INI.M@D =M< D: True
IV.W*N = W< N : True

Directions :
© = < % = > | ¥*= >
@=>< |$=> =

28.(b) K@V = K<V

V © N = V<N

N%F = N2>F

Therefore,

K<V <Nx2F

Conclusions: I.F@ V
= F< V : Not true

I. K@N = K< N: True
29. (e)HOW = H<W

W$M = W=M

M@B =M <B
Therefore, H <KW =M< B
Conclusions: I. B¥*H = B > H :

True
II. M%H = M >H : True

30.(d) D% B=D >B
B*T =B>T
T$M=T=M
Therefore, D >B> T=M
Conclusions : I. TO D = T<D : Not
true
II. M©D = M <D : Not true
31.(a)M*T =M>T
T@K=T<K
KON = K <N
Therefore, M > T <K < N
Conclusions : . N*T = N>T:
True
II. N *M = N > M : Not true
32(c)R$]J = R=]
J%D=1]2>D
D*F=D>F
Therefore, R=1> D > F
Conclusions : I. D$ R = D= R : Not

true
II. D@ R = D < R : Not true

Either I or II is true

Directions :
0= < @ == ©= >
% = > * o<

33.R*K =R <K

K% D = K>D

D@V = D=V

VoM=V<M

Therefore, R<K>D=V< M
Conclusions: I. R * D= R < D: Not
true

I.V¥*R=K>D
III..D@M=D=M

Not true

IV..M%D=M>D: NottrueD is
either smaller than or equal to M.
Therefore, either III or IV follows.
34.(b) F% N =F >N
NOW=W=>W

W3Y=>W=<y

Y*T=Y<T

Therefore F>N>W<Y<T
Conclusions: I. F % W =F> W : True
II. T% N =T > N : Not true

III. N % Y = N > Y : Not true
IV.T%W=T>W: true

35.(e) E<F<G=H>S
Conclusions : I.G > S : true II. F< H
: true




